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From point A, the angle of elevation to the top of the Ferris 
wheel is 30°. From a point B, 100 ft further away, the angle 
of elevation to the top of the Ferris wheel is 25.349°. 
Determine the height of the Ferris wheel to the nearest foot.

Height of a Ferris wheel (1)
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Height of a Ferris wheel (2)
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Simon wants to build a skateboard 
ramp to practice for competition. The 
ramp must have an angle of 20° with 
the ground. It should be 3 feet high and 
be 4 feet wide. It will have two 
triangular sides, a rectangular slope, 
bottom and back. How many square 
feet of plywood does he need to 
construct the ramp?

Skateboard ramp (1)
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Skateboard ramp (2)
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Angle of depression (1)

Rachna is hurrying toward her work building. 
She is at a point 131 feet from the base of a 
building when her coworker on the top of the 
building spots her at an angle of depression of 
27.8°. Five seconds later the angle of 
depression is 31.9°.

1. Draw a diagram modeling the situation.

2. Determine the length of the worker’s line 
of sight when she first spots Rachna.

3. Determine the height of the building.

4. If it is assumed that Rachna walks at a constant rate, 
determine the rate at which she is walking in ft/sec.
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Angle of depression (2)
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